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1. ��	
� ��
����

1.1  ��	
�

1.  �����	
��
������	������������������� �!���  ���� 7 �#  $%���� 26 ���
2.  ()���*������� �+�������--�.� -/0�� � ���-+����*�� (�1�����-2	�
3.  4�!����� ����%��5
6-�.6�
�����!� �  �1�5�����)�)� �
4.  ��8�-2	����5 15-15-15,  8-24-24  (�1 13-13-21

   5.  ()��-���6��	��5<�� color chart (The Royal Horticultural Society London)
   6.  �
�������/�����5� -25�1���5 	�Q�5����R�-�5�R�� R��(��  6��-��5�  +��5��/	���   

�516����!  �S-��  6 �-5�  )��+��6�!  (�14�������� �    
   7.  �
�������/�� -25�1���5 	�Q2�5�
6RT-�5� R��(��  -����	�U%�  �51��V�5�!

6��-��5�  +��5��/	���   (�1�516����!
8.  ��5-2	�����5R�-�5� R��(�� ��5�1���
W-���	RT�5��RW2� (2��	-+�	+��

0.1 ��5�	��) �U%���
�� (�1��5�1���X#����X����� (2��	-+�	+�� 1 %)
9.  ��5-2	�����5� -25�1���5 	�Q2�5�
6RT-�5� R��(�� �5�W
�XS�5 �-+�	+��

�5�-��5�2��5 � ���
2� (�1(��
�5�

1.2  ��
����

1.  ����!4���5��
2.  �����-$�1-�.6�
�����!� �
3.  -250��!�
��5 	�Q2��	-+�	(�! (light meter quantum sensor) 5��� Atago N1
4.  ����5Q�����/��
�(��!� �! �
��5 	��5�5!���	 (�1�
6$%�����6 R��(�� �55R�5

�
�(��!� �!  ��
6-	�5  R	�-	�5  (�1
25!���-�����	���6�a�� (quadrat cube)
5.  ����5Q�����/�����5� -25�1���5 	�Q2�5�
6RT-�5� R��(�� 
4���2��	/0U�
     -250��!�-�2
�
X
�	 -��5�
6.  ����5Q�����/�� -25�1��2�Qc��)�)� � R��(�� -��5�-���5� -250��!/
�!RXX*�
1 �%�(���!  -250��!�
��5 	�Q+�!(+.!����1����U%�R�� (hand refractometer)
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2.  �������

��5ae�V�)�+�!��5�
�(��!� �!(�1�
�5�������5R���6 �����5������(�12�Q
c��)�)� �+�!��	
��
������	������� We�!���R���U$1�/�2%���� f��	
�gh (��2%���� f��	
��
����
��	�������h �%���5����!��(��!���� +�!���X�! �!V�/�1 6���-�+��� 152 �	�� 3  
�.���!�%�-�� �.�������  $.�!+�� (6�!���-�i� 2 ��5����! 
��	���5�%�-� ���5 (�16
��e�+��
	�� �
!��U

1. 6
��e�+��	���c�� X*� ����a ��/��!-�������%���5����!$���4����5�$����a
-�V�52��!�� �.2��!�� �.������� $.�!+�� We�!�
U!�������!$��(��!����!�51	�Q  
10 � 
�-	�5

2. ��5� -25�1����������5��� ���(��!������	
�g -�0��ae�V����5 	�Q��������5���
-�i��51
�/��+�!� ����	�����0/ 
��-�.6�
�����!� �65 -�Q����5!���	�����	
�g -$�1� ����51�
6
2��	�e��51	�Q 20 -W�� -	�5 �%�� ����R��	�(��� �����6�(�1�������!��� -�.6-j��1� �
�������! �%��
�����!� �R�)e�!�	���(��! 2���-2������-+���
� $���
U����	�
�����!	� 1 � 
��5
	 
(����%�R�� -25�1���5 	�Q��������5 Q a�����k 6
� ��5� -25�1�����! 2Q1�5
����5�55	/��  
	��� ����
��!+���25 ��5� R��(�� �5 	�QX��X�5
����-�i��51
�/�� 
��� �� bray ll method 
�5 	�Q
�(��-W��	���(��-������R��
��� �� ammonium acetate (�1�
�����-250��!	0��
� 
flame emission spectrophotometer ($%�-�i�, 2544) ���$����UR��	���5� -25�1�� � ��5���
�4� 
(2�-W��	 (�1(	���-W��	���(��-������R�� (�12��2��	-�i��5�-���!+�!� � (pH) �%���5-�.6�
�
����! (�1� -25�1����������5��� � 2 25
U! 20� ��51�1������5�
�(��!� �!��-�0���
���2	 (�1
��
!��5�
�(��!� �!/��!��������	
�g ������-�.	��� ��-�0���mVc�2	 2548

3. ��5� -25�1����������5��� �!��	
�g -�0��ae�V��
�����+�!�5 	�Q2�5�
6RT-�5�(�1
R�
�5-$� (C/N ratio) 
���%���5���	-�.6�
�����!� �!��	
�g c�����5!���	�
U! 4 ���� ��	� ����5
+�!/� ��5� (2547) (�����-�i� �
�����!� �!(�� (�1� �!�e�!(���e�!���� �%�� �!�
�����!���R��R��5��
�������-��0����� � �!�1 1 / U� +��� 0.5 x 1.5 -W�� -	�5 ��� �!(��We�!	�+���-�.� (�1  
0.8 x 2.0 -W�� -	�5 ��� �!�e�!(���e�!����	�+����������R���
�����!����-��0�� 200 �5
	 (c�����1)
� -25�1�����5 	�Q���� R�
�5-$� (total nitrogen, TN) 
��� �� Kjeldahl method ($%�-�i�, 
2544) Q a�����k 6
� ��5� -25�1�����! 2Q1�5
����5�55	/��  	��� ����
��!+���25 ��5� 
(�12�5�
6RT-�5� (total nonstructural carbohydrate, TNC) 
��� �� Manual Clegg Anthrone 
method (Osborne and Voogt, 1978) Q ���!�k 6
� ��5-�2
�
���/��c��+�!�0/���� 2Q1
�5
����5�55	/��  	��� ����
��!+���25 ��5� (�12%���Q���
�����2�5�
6RT-�5�(�1
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R�
�5-$� (C/N ratio) �%���5-�.6�
�����!(�1� -25�1����������5��� �! 1 25
U! 51�1���	���5���
���-�.	�����-�0���mVc�2	 2548

   ������ 1  ��5���-��0��� �!��	
��
������	������� -�0���/��%��5
6� -25�1���5 	�Q
2�5�
6RT-�5� (C) R�
�5-$� (N) (�1�
�����+�! C/N

����
������ 1  ��5�
�(��!� �!(�1R���6���� �! �����5-$5 �-� 6
���!�%����  
(�1��5������+�!��	
��
������	������� 
��	���5�%�-� ���5(�16
��e�+��	�� �
!��U

1. ��5-�5��	�����	
�g ���	�+����5!���	(�12��	�	6�5Q� ��51�
6����-2��!�
�      
(c����� 2) $%���� 14 ��� �
�(��!� �!(�1�����8�6%�5�!��� �%����� ����5��(�5
�V�
����5!��U%���
/��!-�0��	���2	--	V��� We�!-�i�/��!(��!-�0��������R��	���5�
��
� (�1����U%���-�0���mVc�2	
We�!-�i�/��!v��55	/�� �%����	���5������ 6%�5�!���
����
!�
�(��!� �! 1�
�������-�0��	�5�2	 
�����8����5 15-15-15 �
�5� 1 � 
��5
	/��� ������5������ 1 �
�������-�0���mVc�2	�����8�
���5 8-24-24 �
�5� 1 � 
��5
	/��� (�1������5-�.6-�����)�)� � 1 -�0����-�0������2	�����8�
���5 13-13-21 �
�5� 1 � 
��5
	/��� 5�	4e!��52�62�	a
�5��0/(66)�	)������R��)�(�1����
c
� (� $ ���, 2544)

������ 2  �����	
��
������	������� ������� 7 �# ����/��%���5����!
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2. 2
�-�0�� �
6$%���� (�1(6�!+���� �!+�!�����	
�g -�0��$
��5��-	��� -�i� 
2 �
�VQ120� � �!(�� We�!����65 -�Q
2�+�!� �!�e�!(���e�!���� �����51	�Q 12 -�0�� 	�+���-�.� -���
)���a�������!-j���� 7.25-7.50 	 �� -	�5 ���U%����-+�	 (�1� �!�e�!(���e�!���������51	�Q 6 -�0�� 
	�+������� -���)���a�������!-j���� 8.05-8.80 	 �� -	�5 ���U%�����	��-+��� (c����� 3) 
���5��
-	������R	��
�(��!� �!(��(�1R���6�
�5����!w (T2-T4) $12!R���
U!� �!(�� (�1� �!�e�!(���e�!����(�1R��
�6��	����%���� �%��5
6�5��-	�������
�(��!� �!(��(�1R���6�
�5����!w (T5-T7) �
�(��!-j��1� �!
(�� 2!-��0�� �!�e�!(���e�!����(�1R���6��	����%����-/��-�����
� $
����	�$%���� 20 � �!������
�51$��5�6�5!���	 (�1-���� �!�%����/�U+eU�����6�+�!�5!���	R��-�0���
!-25�1��(�! (�1$
����	�
$%����-����
�������5��-	��� �%���5�
�(��!� �!��-�0�� 	�5�2	 2548 We�!-�i�-���������5���
�����	�55	/�� �51	�Q 3 -�0��

������ 3  � �!��	
��
������	������� 2 �
�VQ1 20� � �!(�� (W���) (�1� �!�e�!(���e�!���� (+��)

3. ��!()���5����!(66 completely randomized design (CRD) 
��(6�!���-�i� 
7 �5��-	��� (���1�5��-	���	� 2 WU%��%������� 1 ���-�i� 1 WU%� �
!��U

         �5��-	������ 1  (T1)      R	��
�(��!� �!(��   (�1R���6��	�55	/��  (/��2�62�	)
�5��-	������ 2  (T2)      R	��
�(��!� �!(��   (�1R���6  70  �6���� �!
�5��-	������ 3  (T3)      R	��
�(��!� �!(��   (�1R���6  50  �6���� �!
�5��-	������ 4  (T4)      R	��
�(��!� �!(��   (�1R���6  30  �6���� �!
�5��-	������ 5  (T5)      �
�(��!� �!(��       (�1R���6  70  �6���� �!
�5��-	������ 6  (T6)      �
�(��!� �!(��       (�1R���6  50  �6���� �!
�5��-	������ 7  (T7)      �
�(��!� �!(��       (�1R���6  30  �6���� �!
�51�%���5�� ��6��65 -�Q� �!�e�!(���e�!���� -�5�1	�$%�����6	�� (�1(����e6

����� �!(�� 
��(6�!� �!���-�i� 3 ����20� �������� ���! (�1
2�� �! $���
U����	�� ��6-j�����
U! 
3 /��! -���65 -�Q���	��6���(���	�� (�1-�i��6���R	���	�54�
!-25�1��(�!-�0���5��!����5R�� 
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-����6���-��0����	�2��	���!��51�1���-�	�1�	-�0���51
�/������5�
!-25�1��(�!����!	��51� �� 
c�� (�1	�$%����-����
6�5��-	��������!R��

4. �5�$��6)���5����!������5-$5 �-� 6
���!�%���� (�1��5�������
!���R���U
4.1 ��5�
��5 	��5�5!���	  
���
�2�� H, S (�1 d ��51�1���� (�1��
!��5�
�

(��!� �! 1 �
����� (���1�5��-	����
� 2 WU%� 2�����R���%�	�2%���Q-�i��5 	��5�5!���	��	� ��+�!
Chapman (�12Q1 (1986) �
!��U

�5 	��5�5!���	 (���6�a��-	�5) = ( H - d/2  - S ) x (d/2)2 + ¶ (d/2)3 x (2/3)
H    =  2��	��!��� (-	�5)
S    =  2��	��!$���0U�� �4e!<���5!���	 (-	�5)
d    =  -���)���a�������!�5!���	 (-	�5) -j����$��� a-��0�-��� (�1�1�
����-

�1�
���

4.2 ��5�
��0U����) ��5!���	 
���
�2�� r (�1 h ��51�1���� (�1��
!��5�
�(��!
� �! 1 �
����� (���1�5��-	����
� 2 WU%� 2�����R���%�	�2%���Q-�i��0U����) ��5!���	��	� ��+�!  
$�51�!V� (�1��6� (2545) �
!��U

�0U����) ��5!���	 (��5�!-	�5)   =   4/3 ¶rh
  r   =  5
a	��5!���	 (-	�5) -j����$��(��-��0�-��� (�1�1�
����-�1�
���

    h  =  2��	��!+�!�5!���	 (-	�5) �
�$��<���5!���	R�$�4e!65 -�Q�������

4.3 ��5�
��5 	�Q(�!c�����5!���	 ���������/��
�-�i� R	
25
	�/��5�!-	�5/
� ���� �%���5�
���51�1����(�1��
!��5�
�(��!� �! 1 �
����� 
���
���-��� 11:00 ~ 13:00 
��� �� We�!���	�
�65 -�Q����6� ���! (�1���!+�!�
U! 4 � a��!�
���5!���	 ���51�1�e�-+��R� 
 1 -	�54
�$��c������5!���	

4.4  �5�$��6��5������ 
���
6$%����� �!���	���5������ (c����� 4) (�1
$%����+�!� �!�
U!�	��
���
U!��� �%���5�
6��
!$����5����5��-	���(�1	���5�������5��	�
��
U!
�����-�0���mVc�2	 2548 �%�2�����R���%�	�2%���Q-�i�-��5�-W.�����5������+�!�
U!��� �
!��U

-��5�-W.�����5������   =   $%����� �!��������� x 100
          $%����� �!�
U!�	�
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������ 4  �
�VQ1� �!���	���5������+�!��	
��
������	�������

5. � -25�1��)���5����!
���/�
�5(�5	��!�4 �  statistic analysis system (SAS) 
(�1-�5��6-���62��	(�����!+�!2��-j��������� �� least significant difference (LSD)

6. -5 �	��5����!-�0��	�5�2	 2548 (�1� U������5����!-�0���mVc�2	 2548

����
������ 2  �
�5�������5R���6���)� ���	����2�Qc��)�)� �+�!��	
��
����
��	������� 
��	���5�%�-� ���5(�16
��e�+��	���
!��U

1.  2
�-�0�������	
�g ���	�+����5!���	 2��	�	6�5Q��	�%�-�	��
� $%���� 
12 ��� �%��
!���)�)� �-�i�)��������� 6 �
����� (���1������)�)� �����-2��!�
��51	�Q 
30 )�/��� ��51�1������5-�.6-�����)�)� � 1 -�0�������8����5 13-13-21 �
�5� 1 � 
��5
	/��� 

����5
5�5�6
2���� (� $ ���, 2544)

2. �5�$�
6�
�5������6/)�/��� ���	�����$5 !���55	/��  �/�
25!���-�����	���6�a�� +���
1 ���6�a��-	�5 5��	�
6��52%���Q�5 	��5�5!���	 (��	�
�+�� 4.1) 
���
6$%�����6��
25!���
-�����	���6�a�� ���	�
6�
U! 4 � a��!�
���%���� (c����� 5) �%��
U! 12 ��� 2%���Q
���/����5

            =  2��-j����$%�����6�� 1 �6.	.$���
U! 4 � a x �5 	��5�5!���	
                   $%���� (30) )�������

�%�2��R��$����52%���Q	�$
�����	 (�1��2��-j���� 
����	�54$
�����	�
�5�
�����6/)�/��� R��-�i� 4 ����	 (�1�6���2��-j�����
�5������6���)���	�55	/�� 20� 
130 �6���)� (���1����	���R��$e!�%�	�$
�-�i��5��-	������R�

�
�5������6/)�/��� ���	�����$5 !���55	/�� 
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������ 5  ��������	
�������

����������������	�������������������� quadrat cube

3. ��!()���5����!(66 completely randomized design (CRD) 
��(6�!���-�i�  
4  �5��-	��� (���1�5��-	��� 	�$%���� 3 WU%� �%������� 1 ��� -�i� 1 WU%� �
!��U

�5��-	������ 1  (T1)        R���6���)���	�55	/��   130    �6���)� (/��2�62�	)
 �5��-	������ 2  (T2)         �
�5�������5R���6  150    �6���)�

�5��-	������ 3  (T3)         �
�5�������5R���6  110    �6���)�
�5��-	������ 4  (T4)         �
�5�������5R���6    70    �6���)�
�51�%���5�� ��6�50��� �)���	�5��-	�������%���� 
��2
�-�0���� ��6��� �!

���	���5���)�)� � (�1���	�� �-j����-���w �
��
U! 4 � a��!�
���5!���	-���65 -�Q���	��6���(���
	�� (�1-�i��6���R	���	�54�
!-25�1��(�!-�0���5��!����5R��-/��-�����
6��5����!��� 1

4. 2
�-�0�� (�1�%�-250��!�	��)���	
�g ����1 10 )� -�0���/�-�i��
�(������5�5�$�
�
��5-$5 �-� 6
�+�!)� (-W�� -	�5) 
���
�)��������������!����������-��5�-���5� �
U!(���
�������� 
6 ��
!���6�� (�1�
�� �����
���� 4 �
�����$��51�
�!)����(�����
�������� 26

5. �5�$��62�Qc��)�)� � -�.6-�����)����(������ 26 �
�������
!���6�� 
���/�)�
)� �$%���� 5 )������� �%���5�5�$��62�Qc��)�)� ��������!w Q ���!�k 6
� ��5c�2� /�
�0/a���5� 2Q1�5
����5�55	/��  	��� ����
��!+���25 ��5� �
!��U

5.1 2�Qc��)�)� �-/ !�5 	�Q R��(��
  5.1.1 +���)� (-W�� -	�5) 
���
������������!������+�!)� ����-��5�-���5�
  5.1.2 �
�5���5-$5 �-� 6
�+�!)� fruit growth rate (FGR) (-W�� -	�5/

�
�����) ��/��!51�1-��� 6-14 (�1 14-26 �
�������
!���6�� �
!���5��52%���Q
   �
�5���5-$5 �-� 6
�+�!)�      = -���)���a�������!)�25
U!������� ~ -���)���a�������!)�25
U!(5�

           $%�����
���������%���5ae�V���(���1/��!
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  5.1.3 �U%���
�)� (�5
	) ����-250��!/
�!RXX*� 1 �%�(���!
  5.1.4 �5 	�Q-�0U�)� (-��5�-W.���) 
����5/
�!RXX*� 1 �%�(���! (�1���
�5�

����51����!�U%���
�-�0U�����U%���
�)�
  5.1.5 2��	���-��0�� (-W�� -	�5) �
�����-��5�-���5�
  5.1.6 -�5��6-���62�Qc��)�)� �-/ !�5 	�Q+�!��	
��
������	����������	�

�
�5�������5R���6���)����!w �
� �
6�
�5�������5R���6���)���	�55	/��  (5����1) �
!���5
��52%���Q

5����1��5��6���!   =           2�����ae�V� $���5��-	������!w x 100
          2�����ae�V� $����5R���6���)���	�55	/��  (2�62�	)

5.2 2�Qc��)�)� �-/ !2�Qc�� R��(��
        5.2.1 �5 	�Q�5����R�-�5�R�� (Titratable acidity; TA) (-��5�-W.���) 
�����	-��

-�0U�)�(��-�i��5��-	���w �1 3 WU%� WU%��1 5 )� ()��1 1 ���6) �%�	�2
U��U%� (�����2���5 	�Q
�5������ �� titratable acidity 
����5�%��U%�2
U� 5 	 �� � �5 	�R�-�5��
6��5�1������!	��5
<��
W-���	RT�5��RW2� (NaOH) 2��	-+�	+�� 0.1 ��5�	�� (�1�/�X#��X�����2��	-+�	+�� 1 
-��5� -W.���  1-2 ���-�i�� �� -2-��5�  2%���Q���5 	�Q�5���� R�-�5�R����5��+�!
�5�W �5 � 
���/����5�
!��U

�5 	�Q�5����R�-�5�R��  =  (N base) × (	�.base) × meq. wt.+�!�5�W �5 � × 100
                                	�.+�!�U%�2
U�����/�

          
����� N base    =  2��	-+�	+�� (normality) +�!��5�1������!	��5<��
	�.base  =  $%����	 �� � �5+�!��5�1������!	��5<������/�R�-�5�

 meq. wt. +�!�5�W �5 �   =  0.06404

        5.2.2 ,�-��./�0
/10234������5��6�� (Total soluble solids; TSS) (�0@� 

�-�A�) ����������5��B	5����C�D5���234C��3��6�����C�3���	
����	�,�-��.��� ���	���,�-��./�0

/10234������5��6�� ����CB�D4�0�	�,�-��./�0
/10234������5��6�� (hand refractometer)

  5.2.3 �
������5 	�Q+�!(+.!����1����U%�R������5 	�Q�5����R�-�5�R��
(TSS/TA) 
����52%���Q$��2������
�R����+�� 5.2.1 (�1 5.2.2

     5.2.4 -�5��6-���62�Qc��)�)� �-/ !2�Qc��+�!��	
��
������	�������
���	��
�5�������5R���6���)����!w �
��
6�
�5�������5R���6���)���	�55	/��  (5����1) �/����5
��52%���Q-/��-�����
6 �
�+�� 5.1.6
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  5.2.5 ��+�!-��0�� (�1-�0U�)�����()��-���6��	��5<�� color chart
(The Royal Horticultural Society London)  

  5.2.6 �
�VQ1-�0U��
	)
� (�12��	/�6����5�/��  
��$
����	�)��5��	����6
$%���� 10 2� ����6�
�VQ1+�!-�0U��
	)
�
����5/ 	 (�1���21(���
!��U

                       -�0U�	��
�VQ1(��!(�1X��	 ��� 1  21(��
                       -�0U�	��
�VQ12���+��!(+.! ��� 3  21(��
                       -�0U�	��
�VQ12���+��!� �	 ��� 5  21(�� (�5!��	�
����)
                       -�0U�	��
�VQ1� �	 ��� 7  21(��

                           -�0U�	��
�VQ1� �		�� ��� 9  21(��
����65�/�� 
����5/ 	 (�1���21(���
!��U

    $0� ��� 1  21(��
                      -�5�U�� ��� 3  21(��
                      -�5�U���	���� ��� 5  21(��
                      �����	-�5�U�� ��� 7  21(�� (�5!��	�
����)

                                    ���� ��� 9  21(��
6. � -25�1��)���5����!
���/�
�5(�5	��!�4 �  statistic analysis system (SAS) 

(�1-�5��6-���62��	(�����!+�!2��-j��������� �� least significant difference (LSD)
7. -5 �	��5����!-�0��	 4����� 2548 (�1� U������5����!-�0���ma$ ���� 2548


